PAGE  
2

	[image: image1.jpg]



	St. Augustine Marine Canvas & Upholstery, Inc

164 Nix Boat Yard Road

St. Augustine, Fl 32084

(904) 826-3591 customerserive@samcu.com


33 Hunter Dodger Installation

   These instructions will explain the easiest way for you to install your new dodger and have it looking fantastic.  As with any other types of installation, a little time and patience will give you the best results possible in achieving that perfect look that you want your dodger to have.

1. The first step in your installation is to find the location of your main mounts.  To do this, run a tape measure from the edge of the deck house, along the side of the boat (18”).  This will give you the center of you main mounts.  Use a 1/8” Drill bit and 3\4” screws to secure your mounts. Be sure to seal all holes with 5200 caulk or silicone.

2. Place frame in main mounts.

3. Zip your dodger to the frame, making sure the dodger is centered on the frame, and make sure the long bow of the frame is facing forward. Then put a fastener in the center of the sea hood to secure. Use a rope or strap, wrapping it to the center of the frame and securing it to the pedestal. This tension is critical to the fasteners down the side of the deck.

4. Go to the forward of the dodger and begin installing the studs into the sea hood and LTD prong sockets and back plate to the Dodger top. Start in the center, and then alternate by going to each side (port & stbd) at this point tension is critical to make sure that you have a tight and secure fit.  Don’t forget to seal all the holes!

5. Move and pull the glass around until it pops out round and perfect. At this point, you will need to take a pencil and lightly trace the radius that the bottom of the dodger is making on the top of the deck.  This line will give you the location to install the single bead flex track provided. The track is very flexible and makes it easy to bend with the radius.

6. Take a piece of 1 1/4” plastic track provided.  Use a 1/8” drill bit, use #8 x ½” screws. Secure the track to the deck using the line you made on the radius. 

7. At this point you will have to go back from one side to the other installing the fasteners. Make sure you keep the dodger centered and that it’s a tight fit. Once the fasteners are installed place the boat rope attached to the dodger into the track you just installed.

     8.   The last thing you will do is to install the fwd and aft stiff legs.           
If you have any questions, please don’t hesitate to call!

Smooth Sailing!!

33 Hunter Dodger Hardware List

2
-
Extreme Angle Hinges

2
-
6” Pieces of Flex Track

25
-
LTD Studs

25
-
LTD Prong Sockets

25
-
LTD Back Plates

  2
You will need the following TOOLS and SUPPLIES:
Flat head screw driver 

Phillips Head Screwdriver

1/8” Drill Bit

Screwdriver (For LTD Studs)

Hammer (To put LTD prong sockets & back plate on dodger)

5200 Caulk or Silicone

10 ¾”#10 Screws (For Mounts)

8 ½ #8  Screws (For Flex Track)

[image: image2.jpg]



[image: image3.jpg]



MEASURE 18’’ FROM THE EDGE OF DECK HOUSE TO CENTER OF MOUNT 
[image: image4.jpg]



TO INSTALL THE STUDS START IN THE CENTER OF THE SEA HOOD, THEN ALTERNATE  PT & STB
[image: image5.jpg]



INSTALL THE  PLASTIC TRACK

[image: image6.jpg]



[image: image7.jpg]



[image: image8.jpg]



[image: image9.jpg]



